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Question (1): Choose the correct answer: Only one choice (10 marks ) 
 

1. According to Piaget, when you encounter new information and it fits into an 

existing scheme, you  can the new information.……………………..  

a. transform  

b. assimilate  

c. accommodate  

d. encode  
 

2. Freud would say that an adult who smokes heavily or one who constantly bites 

her nails …………………….. 

a. is trying to repress her aggressive urges.  

b. is fixated at the oral stages because these needs were not met in infancy.  

c. has not resolved his or her issues with the same-sex parent.  

d. is stuck in the latency stage of development. 
 

3. One-Word  (Holophrastic) Stage in language development from…………… 

a. 0 – 6 months 

b. 6 – 8 months 

c. 9 – 18 months 

d. 18– 36 months 
 

 

 

 

5 . The nurse notes that a 6-year-old child does not recognize that objects exist even 

when the objects are outside of the visual field. Based on this observation, which 

action should the nurse take? 

a.  Report the observation to the health care provider. 

b. Move the objects in the child’s direct field of vision. 

c. Teach the child how to visually scan the environment. 

d. Provide additional lighting for the child during play activities. 

 
 

4. The child able to control his anger by…………………….. 

a. 11- 12 years 

b. 7-8 years 

c. 3-5 years 

d. All of the above 
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Question (II): read the following sentences and choose True or False 

 (5 marks each point = 1mark) 

 

Item T F 

1. The emotional expression is what the child feels inside himself   

2.  The child develop separation anxiety by 8 to 15 month   

3. The insecure avoidant attachment mean that; the child stay close to 

their caregivers rather than exploring their environment. 

  

4. Piaget believed that the primary difference between how children 

think and how adults think is a  difference in how much each knows.  

  

5. The most critical period for speech development occurs between 2 

and 4 years of age. 

  

 
Question (III): Answer the following questions ( 5 degree) 

1. The benefits of secure attachment (1,5 degree) 

2. Freud’s components of  personality structures (1,5 degree) 

3. The factors affecting language development (2 degree) 

 

Question (IV):   Read this situation then Answer the following questions (5  

marks)                                                                                
As a new paediatric nurse , you are assigned to care for a child sara (6 years) with 

second degree burns on her buttocks and legs ,the nurse noticed that sara afraid from 

her mother , the nurse think that the child exposure to abuse and the family was 

referred to child protective services. 

 

1. According to freud, Erikson, piaget determine the developmental stage for sara (1 

degree ) 

 

2. Determine is the type of abuse nagla exposure in previous situation (,5 degrees) 

 

3. List the impact of  abuse on the child (1,5 degrees) 

 

4. Mention the methods to prevent child abuse (2 degrees ) 
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